Using Stayman with

Strong

Invitational
Weak Hands

Stayman with a strong or invitational hand

at least one 4-card major

West (12) East (13) West East
AJ54 AaQ1082 INT 2%
v972 vAQ4 e INT
¢ AJ4 ¢ KQ83 Pass
«KQJ2 %104

West (12) East (11) West East
AJ54 AaQ1082 INT 2%
v972 vA84 e INT
¢ AJ4 ¢ KQ83 (11-12)
«KQJ2 %104 Pass




Stayman with a strong or invitational hand
at least one 4-card major

West (12) East (13) West East
AaAKS4 AaQ1082 INT 2%
v972 vAQ4 oa da
¢AJ4 ¢+KQ832
%1092 %6 Pass

West (14) East (12) West East
A AKS54 AaJ1082 INT 2
vAJ43 v K7 2w INT
+Q102 ¢ KJ83 da Pass
%109 & A87

Stayman With a Weak
Hand

1 — With 4:4:4:1 or 4:4:5:0 distribution
2 — With a long club suit (planning to sign off in 3&)
3 — With 5:4 or 5:5 in the majors




1 - Stayman with a weak hand 4:4:4:1 or 4:4:5:0
The shortage must be in clubs

West (13) East (3)
aA10 AJ873
vQ97 vJ1084
¢ AK74 ¢J1082 West East
*10972 *6 INT 2%
202924 Pass
West (13) East (2)
aAA10 AJ873
vQ972 vJ1084
¢ AK7 109832
*10972 -
2 - Stayman with a long club suit
West East (4) West East
a72 INT 2%
vilos 2029024 3a
¢ 102
£#QJ8765 Pass
West East (4) West East
AAL0S a7 INT 2%
vQ972 vJ]1084 v Pass
¢ AK7 ¢ 102
*1042 *QJ8765




With a long club suit, but a stronger hand

just pass INT

West (13) East (8) West East
AA1054 A73 INT Pass
vQ97 vKIS8
¢AJT74 ¢ 108
Q4 s« KJ10872

3 - Stayman with a weak hand 5:4 or 5:5 in the majors

West East (4) West East
AaQJ832 INT 2%
vIiiog4 2v/2a Pass
¢ 102
®65

West (13) East (4) West East
AaA105 AaQJ832 INT 2%
vQ73 vJ1084 e 24
¢ AK73 ¢ 102 Pass
%1092 ®65




3 - Stayman with a weak hand 5:4 or 5:5 in the majors

West East (4) West East
AQJ832 INT 2%
vi10842 29724 Pass
¢ 10
65

West East (4) West East

AaAI05 AaQJ832 INT 2%
vQ73 vJ]10842 e 24
¢ AK73 ¢ 10 P

ass
%1092 ®65

5:4 With a stronger hand you must jump

West (13) East (13)
Aal105 AQJ832
vQ43 vAKS82
¢AQIJ3 ¢ K2
«KQ109 %65

West (13) East (13)
A AKS5 AQJ832
vQ1097 v AKS84
¢ A84 ¢ K2
%1092 %65

West East
INT 2%
2¢ 3a
3NT Pass

West East
INT 2%
2v 4v
Pass




Stayman With a
Weak Hand

1 — With 4:4:4:1 or 4:4:5:0 distribution
2 — With a long club suit (planning to sign off in 3&)
3 — With 5:4 or 5:5 in the majors

The weaker your hand the more desirable it is to
play in a suit, rather than INT




